
(1) (2) (3) (4) (5) (6) (7) 

Χρόνος (hr) 
Εισροή In  

(m3/sec) 

In + In+1 

(m3/sec) 

2Sn/Δt - Qn 

(m3/sec) 

2Sn+1/Δt + Qn+1 

(m3/sec) 

Qn+1 

(m3/sec) 

Sn+1 

(m3/sec) 

0 0 25 0 25 5 10 

1 25 75 15 90 14 38 

2 50 125 62 187 27 80 

3 75 175 133 308 38 135 

4 100 225 232 457 47 205 

5 125 275 363 638 53 292.5 

6 150 265 532 797 57.5 369.75 

7 115 195 682 877 59 409 

8 80 115 759 874 59 407.5 

9 35 35 756 791 57 367 

10 0 0 677 677 54 311.5 

11 0 0 569 569 52 258.5 

12 0 0 465 465 47 209 

13 0 0 371 371 43 164 


